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L AR
1 P18 7T4TH Two minus three equal minus one. Two minus three equals minus one.
1 P18 | AT 4 X 105 + 10" = 1.4 X 10° 4 X 10° + 10" = 1.4 X 10°
1 P19 31TH four times ten to the six. four times ten to the sixth.
1 Pl | FrB61TH 1.38 X 10°4F 1.38 X 10"4E
1 P20 | 59TH a to the minus four a to the minus fourth
! P20 | BITE WREEL ]+ WL LD
1 P31 1547H IR interated resort IR integrated resort
1 P31 1649TH § fdx:the intergral of f dx § fdx:the integral of f dx
1 P07 | 10417H Edyn/ p = Edyn=
1 P138 | 11TH X 4.12 X 4.11
1 P38 | 1247H 4.13 X 4.12
1 P216 | 54TH ct = Bx— 1/vyct’ ct = Bx + 1/vyct




